MocTpoeHue antopbl npoaonbHbIX yeunuin N B cTepxHe

KaroueBble NOHATHA-IPABWIA:

1). [IpaBusio 3HAKOB J1 OPOJOJIBHOTO YCHIIHS N;
2). I'py30BO#1 y4aCTOK CTEPKHS;

3). B npoun3BoIbHOM Ce€YeHHU CTEPKHA N paBHO alreOpandecKo CyMME .. ...
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0<x<3.5:
>X=0: N+F=0 — N=-F=-60xH
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3.5<x<5.5:
>X=0: N+F-F,=0 — N=-F +F, =-60+100 =40xH
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0<x<3.5: N=-F =-60kH,
3.5<x<5.5: N=-F +F, =40kH.
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0<x<3: N=F =30«H,
3<x<7: N=F—-q-(x-3)=30-10(x-3).
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0<x<3: N=F=30kH,
3<x<7: N=F—-q-(x-3)=30-10(x-3).
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N=F —q,(x-2)=-20-10(x - 2);
N=F -q,-3+F,=-20-10-3+60=10;

N=-F -q,-3+F +q, - (x=-7)=-20-10-34+60+15-(x=7)=10+15-(x = 7).
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0<x<2: N=-F =-20xH;
N=F —-q, - (x-2)=-20-10(x - 2);
<x< N=F -q,-3+F,=-20-10-3+60=10;
7<x<8: N=-F -q,-3+F, +q, - (x-7)=-20-10-3+60+15-(x-7)=10+15-(x—7).
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